ADDING AND SUBTRACTING UP TO 1 000 000 WITH CARRYING (V-2 0.

SOLUTIONS: TEST 3

Time: Score: y—

1) 937697 2) 863037
~ 733532 —202036
204165 661001

3) 813405 4) 955546
+ 62193 —150230
875598 805316

5) 744898 6) 237473
—401246 +261012
343652 498485

7) 473638 8) 562348
- 72610 +234100
401028 796448

9) 615029 10) 808888
+ 50400 —100302
665429 708586

1) 8181924 12) 7069633
—5150612 -~6060323
3031312 1009310

Mathematics: Mixed - Level 8 - Vertical - Set 2

58

© workulum.com


https://www.workulum.com

